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The figures in the margin indicate full marks.

SECTION-I / f{eio- / @vs-&

1. Answer any four questions of the following:

fasfeie @i orafe avis Ted mies
fFrferRaT THEw el P T sEwed! IR feTer :

(a) What are the parts of categorical proposition?
feresre v [ oreef 6 o
fARUer e faf=T 9RTE™ & b g ?
(b) What is meant by Figure of Syllogism?
T SIS FEI 00 {F (@R 9
I ATFID] b ST H=TTeT b feTe ?

(¢) What does SP #07?
SP # () 7o F @RI 9
SP # 0 H=ITel & 30 ?
(d) What is the paradoxes of Material Implication?
TGS FCHCI FOTO B0 (& (I 9
Aifcrer FfgaTeie faRremT & & 2

(e) Transform the following into standard form of categorical proposition:

fTIe I fRT fHa e Fiele 513
TTEDT ATFIBRHETS [RUET b dTaIERoHT PUTRINT TR :

(1) Swans are white.
AR A
BRI A 570 |

(i) All who praise are not friends.
I RRAGI T 7|
ESKIREESCRECRCOR Y

(ii1)) An ostrich cannot fly.
To7iifA Tore 7 Al

I IS Feh |

6097 57 1

Full Marks: 60

3x4=12
3
3
3
3
I1+1+1
Turn Over



UG/CBCS/B.A./Programme/6th Sem./Philosophy/PHIPGE2/2023

®

(a)

(b)

(©)

(d)

(e)

6097 57

What 1s immediate inference?
ST eIl PICE A0 9
TIcepTeT SFHT & 8l ?

SECTION-II / fJenl-4 / @ve-a
Answer any four questions of the following:
faferiie @-FF 51fp eitss T nies
TR TereeTe FIvaeT HHewHd! SR S8R :

Discuss in brief the Existential import of different categorical propositions.

TR 60T ST Ol FREFC? S T4

fFRUer qdharaess AR eTd AT e T Ta R |

Use truth table to determine the following statement forms as tautology,
self-contradictory or contingent.

AR AR HfiRe WwaeRelr Tocwme / Freifer / wiawese fef we

AT ARl eIl doldhl diaesed! &d: A< / a: fBrear / ifHfydar wu
ISR

1 p>o[~q-(pvq)l
(i) (pv~q)>(q-~p)

Determine the Validity or Invalidity of the following arguments / argument
forms with the help of syllogistic rules.

(i) AEE — 1" figure
(i) Some Philosophers are Mathematicians; hence some Scientists are
Philosophers. Since all Scientists are Mathematicians.

Wi oz wreprica ke e / e ierafem el wieal sitagst [Koie 391

(i) AEE — &2 3%/

(i) g g wifae siftoss, Srewa g [Resi wifaes, Fiae 1w Real sifdews |

AR FRIFSTIIR Fr=eTRad Jfch & feh WUeh! JE-T 7ofaT 3eT Bers e |

(i) AEE — 1" figure

(ii) pET aTelfep TS &, IS bel deiTiep aneifeies & fobet fob A d=TTiiep TforeTeT &1 |

What is opposition of proposition? Explain contradictory opposition with example.

I RS 0o F @RI ¢ SwideR AR [Rea [idet i #11
paTerep! faRTer < 81 2 UREUR Ry T fRRTemIfRy faeemT Te |

What is contraposition? Contrapose the following statements:
(1)  There are Idle men.

(i1))  Only the fools think themselves clever.

(ii1)) Everyone is liable to error.

RS & ¢ fsfefie aefin Twiefes @ nes
(1) ST 7EER R

(i) YT QPN (NS 9 St |

(iii) 2T GER Gy Wi |
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ORI o BT 2 TefTeT raesne! Rl HY SRS |
(i) 3B A go |

(i)  hereT JE 3MMhells el TweD |

(i) T Tecip! IR &6 |

Explain in brief the fallacy of undistributed middle and fallacy of illicit minor
with example.

Y AT G ST (YR Sl TR S5 4 |
SRR 7eT AN T Y U= QYepT ISTERVT Al e T |

SECTION-III / [Feia-9 / @usr

Answer any two questions of the following

fwfeiee - 716 eoie Tex wie
fr=TfeTRad TseTed g¥aeT UHEHD! I ETER],

Translate the following arguments into the standard forms and determine the
Validity or Invalidity by means of Venn Diagram.

(i) EIO-3" figure

(i) AAI-4" figure

(i11)) Only man are Mortal. Hirak is a man because Hirak is a Mortal.

fasfeiRe Ffeelis welwprme @ wieke s cealbes NG @Ee! B>l
LIGRO SRR

(i) EIO — 9oR %E«

(i) AAI- gL ®RE

(iii) GFIG AT TR | 2 SE NI eIl 217 N[ |

deTT Jfheells e WUHT GRUIT TR I 97 SRIM $I Aerddlel JTa! JerT
3TRIAT AL BCTSTBRT:

(i) EIO - 3" figure

(i) AAI-4" figure

(iii) paeT AT FRUIMS 876 | ERe I 81 fobeT fob EIRep ARreet & |

Use truth table to determine the Validity or Invalidity of the following arguments:
i) O>P
P> ~P/ .. ~0O
(i) T>(N-B)
~N | o ~T
(ii1)) Naren is either a poet or novelist. It is not the case that he is a novelist.
Therefore he is a poet.

TR AR e gfereltn el st st i 323
i O>oP
Po>~P/ . . ~0
(i) T >(N-B)
~N | o.~T
(iii) <= R XA AT | G5 T @ (7 = ARGF | FoqR 7 2 IR
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g HTRufep! FERIdTer Fr=1feTRad gfhewae! e 7eraT ST SRS IeHy |
(i) O-5P
Po>~P/ .. ~0
(i) T>5(N-B)
~N | o.~T
(i) R P B T T ITIRIPR | I IUIRIDBR & Aehe 2 I TICT DI & |

What is conversion? Explain the simple conversion of “A” proposition with
examples. Convert the following statements.

(1)  All flowers are beautiful.
(1)) None but the graduates are eligible for the post.
(i11)) Indians are religious.

TS FIE A 9 Tuigde FREANS “A” I AR TS ey 391 el

PN AT F41
() T T FWR|

(i) (PTG oL G2 A |

(iil) SRS {=RIe |

3T b 8 ? A ThdTeIel AReT JATaciIeh] IETERVINATR ARG TER | dTeresae]
T FASTBR |

(i) FIPAIGNED |

(i)  PaeT IoRIT I U] T I &6 |

(iil) HRITT GHIRRIV 75 |

What is analogical argument? Discuss about the criteria for the appraisal of
analogical argument.

Aol I 1 9 Aol I ST e el e =1
AT Yfeh & 81 2 AGLT Jfhebl JedTdan! TGTIe<aH I Tl B |
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